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Instructions : (1)  All questions in Section — I carry equal marks.
(2) Attempt any Two questions in Section — \
(3) Question No. - § in Section — II is compulsory. ‘0
gses A, B and C. From the
10

Section —

1. (A) In Aeric Co. a prod3t passe

following information

Process B Process C
® ®
8,060 7,400
3,000 1,500

In process A Raw materials of ¥ 5 per unit were introduced. Production overheads

cost Z 8,000 is to be distributed as 100% of direct labour.

Particulars | Actual Production | Normal wastage Selling price of
(Units) normal wastage per
unit %)
Process A 1900 5% 5
Process B 1600 10% ' 5
Process C 1460 10% 5
(B) Explain the methods of Accounting of By products. 10

NC-104 7 P.T.O



2. (A) In Bhavesh Co. Ltd. 8 Pr©

(B)

NC-104

duct passe
k. The

s through two different

following information

P

rocesses before it is
is for the month of

transferred to finished sto¢
clober Process X Process Y Finished stock
Particulars @ @ (2)0
Opening stock 30,000 50,000 75,00
Direct Materials 70,000 1,25,000 g
Direct labour 60,000 75,000
indi 000 75,000 -
Factory indirect €Xpenses 60,
Closing stock 20,000 50,000 38,750
Inter-process profit for
opening stock - 15,000 12,675

¥ 7,50,000.
Profit :

Process X : 25 % on cost.
Process Y : 33 1/3 % on transfer pr

Prepare :

(1) Process accounts
(2) Finished stock accou
(3) Statement sh
The followingg

) Qpen

¢!
@2
(

opening 5% : .
The stock of each process is valued at prime cost. The finished stoc‘

]ccago

e
io ates'to Process—1 :
0

rk in progress 1,600 units, Cost ¥ 8,000

e pletion of opening stock :

t labour ¥ 33,480

) Overheads X 16,740

6

Unit scrapped 2400 units
Degree of completion :

Is 100%, Labour 60 %, Overhead 60%
nits were introduced, which cost is ¥ 73,600.

Materials 100%, Labour 80%, Overheads 80%

(M

Closing stock of work-in-progress 1800 units
Degree of completion :

Materials 100%, Labour 70 %, Overheads 70%

(8)
)

(10) Realise value of scrap per unit ¥ 4
Prepare as per FIFO method :

(a) Statement of equivalent production
(b) Statement of cost per unit

15,800 units were completed and transferred to next process.
Normal loss 8% (opening stock + unit introduced)

10

\
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3. Man Ltd. and Mohan Ltd. were amalgamated on al?d from 1-4
was formed to take over the business of the existing com

balance sheets of both the companies as on 3 1-3-2020.

Balance sheet

Particulars

Ltd.(%)

panics.

—
Man

Mohan

L@

I Equity and Liabilities :
(1) Shareholder’s Fund :

(a) Share capital :
Equity share of ¥ 10 each
10% Preference shares of
¥ 100 each.

(b) Reserve and Surplus :

General Reserve

Profit and Loss account

Investment allowance reserve

Export profit reserve
Non-current Liabilities :

2

Long term borrowings —

5,00,000

4,00,000

50,000
30,000
80,000
70,000

8,00,000

6,00,000 )‘

60,00
00
0,000
70,

_2020 Manmohan Ltd.
Following are the

®

\

9% Debentures 1,50,000
(3) Current Liabilities :
Trade payables 3 0
Creditors ' 1,10,000 1,00,000
. Bills Pa \ 30,000 40,000
13,70,000 19,22,000
II. Assets :
nt Assets :
1xed Assets :
(1) Tangible assets —
Land-building = ~————%6,00,000 7,00,000
Plant-Machinery ——35,00,000 6,00,000
(b) Non-current investment : -
Investment 1,00,000 1,00,000
(2) Current Assets : '
(a) Inventories : stock 50,000 1,50,000
Trade Receivables :
Debtors 60,000 1,90,000
Bills Receivable 30,000 1,40,000
(b) - Cash and cash equivalent :
Cash balance 30,000 42,000
13,70,000 19,22,000

Additional Information : _
(1) 9% debenture holders of Man Ltd. and Mohan Ltd are discharged by Manmohan
Ltd. by issuing such number of its 15% debentures of ¥ 100 each so as to maintain

NC-104
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i Ltd.
i ty shares of Man L
11 issued 3 equity shares for each 5 equi /o be
* Manmmm?: Lst:;a::;“ﬁl)f‘s::ch 5 gquity shares of Mohan Ltd. The shares are
;sal;iezj :ll: tyz, having face value of T 10 each.

nies are issu
3 hareholders of the two compa

9 Prr:ft;:::::: ssharcs of Manmohan Ltd., each of ¥ 100 at a
(4) ?nvcstmcnt allowance reserve and Export profit reserve ar
: '0 more years. a1 o ey <
Prepa:t-: 31:1 balar{ce sheet of Manmohan Ltd. after the amalgamation in following 0
(A) When amalgamation is in the nature of Purchase 10
(B) When amalgamation is in the nature of Merger

ed equivalent number of 1 1%

face value of T 110 per share.
e to be maintained for

. 20
4.  The balance sheet of Kamal Limited and Janan Limited as on 31-3-2020 are as I

Particulars Kamal Jan
Ltd.(%) |

I\

70,000 15,000
10,000 25,000

I. Equity and Liabilities
(1) Shareholder’s Fund :
(a) Share capital -

Equity share of ¥ 100 each.

(b) Reserve and Surplus -

General Reserve

Profit and Loss accou

(2) Non-current Liabilitie

Long term borrov

2,00,000

9% Deben — | 1,20,000
(3) Current Liabiliti
Tr; i
cggo 40,000 | 30,000

ayable 30,000 10,000
: 6,00,000 | 4,00,000

n-current Assets :
(a) Fixed Assets —
(i) Tangible assets —

(1

Land-building 1,15,000 | 1,60,000
Plant-Machinery , 1,80,000 -
Motorcar
.. - - 30’
(i1) Intangible assets — o0
Goodwill - | 40,000
Patents 30,00 :
(2) Current Assets ' ; ’ 0 “ion
(a) Inventories : stock 1,20,0
: ,20,000
(b) Trade Receivables : Debtors - 65,000 §3'83°
(¢) Cash and cash equivalent ; ’ .
Cash balance 90,000 10,000

6,00,000 4,00,000

NC-104 ©



- .4-2020. The conditions of
Kamal Limited acquired the business of Janan Limited on 1-4 2 ndition
absorption were as follows : et
en
(1) Kamal Ltd. took over all assets and liabilities of Janan Ltd. except patents,

(2) Assets were valued as follows :

Land-Building ¥ 2,00,000, Motorecar ¥ 4
reduced value and debtors were taken over at 5% discount.

0,000, stock was taken over at 8,000

(3) 10% more pay to creditors.

(4) Patents were realise ¥ 15,000

(5) 12% debentures of Kamal Ltd. were issued to pay 9%
Ltd. at a premium of 20%.

o
N

(6) Ordinary shareholders were to be given 8 shares of T 100 each for every | h
held in Janan Ltd. besides, for each Ordinary share of Janan Lt 30/ we
1 Limited.

debenture holders of Janan

in cash. -
(7) Liquidation expenses of T 4,000 of Janan Ltd. were paid

Prepare in the books of Kamal Ltd. .
(A) Pass necessary journal entries abou a
(B) Balance sheet after a,horp“

ion — 11
5.  Write corre r ve) 10
(1) itteost of abnormal gain ______.
mputed as per cost of finished goods
( omputed as per cost of unit introduced
(¢) Computed as per realise value per unit of normal wastage
(d) None of the above.
(2) In the Process X if units introduced are 5000 and normal loss is 5% of unit
introduced and actual production is 4800 units, then
(a) Normal wastage 250 units with abnormal gain.
(b) Normal wastage 250 units with abnormal wastage.
(c) Normal wastage 240 units with abnormal wastage.
(d) None of the above
(3) In which process, there is no inter-process profit in opening and closing stock ?
(a) First process (b) Second process
(¢) Last process (d) Allgiven
NC-104 ! 11 P.T.O.



i t the
: m which statemen
4 i equivalent production, fro
# In the process costing a§ per €q
Value of abnormal loss will get ?
(@)  Statement of evaluation

(b)  Statement of cost |
(c) Statement of equivalent productions

(d) All above
(5)  Accounts of amalgamation is to be prepared as per
(@ AS3 (b) AS14

None of these
(c) AS9 (d ' e
(6) In which form of amalgamation, amalgamation adjustment account 1 8 \

the balance sheet ?
(@) Inthe form of merger (b) In the form of purchase
(c) Inboth (a) and (b) (d) None of these (

(7)  The shares received from the new company is recorded at
" (a) Face value (b) Mar u

(c) Average price (d) o
(8) When the seller company paid realisa ebited to Alc.
(@)  Goodwill o alth Realization

(¥ Capital reserv \’ Bank
(9) Net Assets / No es =
(a) Yi @ (b) Face value of share
( tgu f share (d) None of these
Q ng which is not relevant to process costing ?
) a

process profit (b)  Abnormal gain
lation (d) By product

1) sThe cost of process 2 is T 42,000, If 25% profit charged on transfer price, then the

transfer price will be

(a) T42,000 (b) 28,000
(c) 56,000 : (d) None of these
(12) If purchase price is more than Net assets, then the difference is
(a) Reserve Capital (b) Capital Reverse
(¢) Goodwill (d) Al given

NC-104 "
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Seat No.: __——

NC-104

November-2021
B.Com., Sem.-V

CE-301-A : Cost & Financial Accounting

(Old Course) .
Time : 2 Hours] [Max. Marks : 50

[nstructions : (1) All questions in Section — I carry equal marks.

o
(2)  Attempt any Two questions in Section — L.
(3) Question No. — 5 in Section — II is compulsory. ‘o

Section -1

1. (A) In Aeric Co. a product p'es o t B and C. From the

following information ragess : 10
ss A Process B Process C
) ) ®
6,300 8,060 7,400
3,500 3,000 1,500

Process A Raw materials of ¥ 5 per unit were introduced. Production overheads

cost ¥ 8,000 is to be distributed as 100% of direct labour.

Particulars | Actual Production | Normal wastage | Selling price of
(Units) normal wastage per
unit X)
Process A 1900 5% 5
Process B 1600 10% 5
Process C 1460 10% 5
*  (B) Explain the methods of Accounting of By products. 10
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2. (A) InBhavesh Coﬁmshe d stock. The following in

(B)

NC-104

ses before it is

erent proces
o diff p onth of

tw
Ltd. a product passes through formation is for the m

10

transferred to

chbe;’arﬁculars Process X Process Y Finish(e:) stock
(O = 75,000

Opening stock 30,000 50,000 —,

Direct Materials 70,000 1,25,000 -

Direct labour 60,000 75,000 3

Factory indirect expenses 60,000 75,000 150

Closing stock 20,000 50,000 38,

Inter-process profit for

opening stock - 15,000 12,675

¥ 7,50,000.

Profit :

Process X : 25 % on cost.

Process Y : 33 1/3 % on transfe
Prepare :
(1) Process account
(2) Finished

: \ ofit
10

n relalen to Process — 1 :

The stock of each process is valued at prime cost. The finished ‘

aterials 100%, Labour 60 %, Overhead 60%
8,400 units were introduced, which cost is ¥ 73,600.
(4) Direct labour ¥ 33,480
(5) Overheads ¥ 16,740
(6) Unit scrapped 2400 units
Degree of completion :
Materials 100%, Labour 80%, Overheads 80%
(7) Closing stock of work-in-progress 1800 units
Degree of completion :
Materials 100%, Labour 70 %, Overheads 70%
(8) 15,800 units were completed and transferred to next process.
(9) Normal loss 8% (opening stock + unit introduced)
(10) Realise value of scrap per unit ¥ 4
Prepare as per FIFO method
(2)  Statement of equivalent production
(b)  Statement of cost per Unit,

20



m 1-4-2020 Manmohan ¢d,

3. Man Ltd. and Mohan Ltd. were Amalgamated on and fro mpanies. Fol owing are the

was formed to take over the business of the existing €O
balance sheets of both the companies as on 31-3-2020

Balance sheet —
Man ’mﬁ
Particulars __L@_(_ﬂ__

Ltd.(3)

1.  Equity and Liabilities :
(1) Shareholder’s Fund :
(a) Share capital :
Equity share of ¥ 10 each ~5,00,000 8,00,000
10% Preference shares of
T 100 each : 4,00,000
(b) Reserve and Surplus :
General Reserve
Profit and Loss account
Investment allowance reserve
Export profit reserve
(2) Non-current Liabilities :
Long term borrowings —

50,000

\

9% Debentures 1,50,000
(3) Current Liabilities

Trade payal;“l‘

Credit _ 1,10,000 1,00,000

ills a 30,000 40,000
13,70,000 19,22,000
-current Assets :

(a) Fixed Assets :
(1) Tangible assets —

Land-building 6,00,000 7,00,000
Plant-Machinery : 5,00,000 6,00,000
(b) Non-current investment :
~ Investment 1,00,000 1,00,000
(2) Current Assets :
(a) Inventories : stock 50,000 1,50,000
Trade Receivables :
Debtors 60,000 1,90,000
Bills Receivable 30,000 1,40,000
(b) Cash and cash equivalent : -
Cash balance 30,000 42,000
13,70,000 19,22,000

Additional Information :

(1) 9% debentureholders of Man Ltd. and Mohan Ltd are discharged by Manmohan
Ltd. by issuing such number of its 15% debentures of ¥ 100 each so as to maintain
the same amount of Interest.
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£ Man Ltd.

¢ cach 5 equity shares O
to be

. uity shares fo
| issued 3 6V £ Mohan Ltd. The shares are

@) Ltd. wil ;
2:?1"‘;“ zgsgy shares for cach 5 equity shares ©
issued at T 12, having face value of T 10 each.

ompanies arc issued equivalent number of

h
) ?Ige;eg?:r:::f sh 7 100 at a face value of T 110
0
per share.
(4) Investment allowance reserve an
two more years.

olders of the two ¢
ares of Manmohan Ltd., cach of

d Export profit reserve are to be maintained for

after the amalgamation in following cases :

Prepare the balance sheet of Manmohan Ltd. 1‘
(A) When amalgamation is in the nature of Purchase @
(B) When amalgamation is in the nature of Merger 0\
4. (A) The details of Bela Ltd. are as follows : o 1
Year Sales () Cost X

2019 6,00,000

2020

Find out :

ofit /Loss at the sales of ¥ 7,50,000

( argin of safety for the year 2019
) Explain the following terms : (any two) 10
(a) Relevant cost
(b) Opportunity cost
(¢) Common cost
Section - II
10

5. Write correct answer : (any Five)
(1) The per-unit cost of abnormal gain
(a) Computed as per cost of finished goods.
(b) Computed as per cost of unit introduced
(c) Computed as per realise value per unit of normal wastage

(d) None of the above

NC-104 | -



(2)

)

4

&)

(M

®)

NC-104

is 5% of unit
In the Process X if units introduced are 5000 and normal 10§ 1
introduced and actual production is 4800 units, then

(a) Normal wastage 250 units with abnormal gain.
(b) Normal wastage 250 units with abnormal wastage

(c) Normal wastage 240 units with abnormal wastage.

(d) None of the above
In which process, there is no inter-process profit in opening and closing stock ?

(a) First process (b) Second process

(c) Last process (d) Allgiven T \
In the process costing as per equivalent production, from which stateme \
value of abnormal loss will get ?
(a) Statement of evaluation (0
(b) Statement of cost 0
(c) Statement of equivalent productio
(d) Allabove e\
'ol\\ pr} T

Accounts of amalga r pe
(a) AS3 AS 14
(c Se (d) None of these
amalgamation, amalgamation adjustment account is shown in
e sheet ?
ge form of merger (b) In the form of purchase
(¢) Inboth (a) and (b) (d) None of these
In the marginal costing is given the importance.

(a) Variable cost

(b) Fixed cost

(¢c) Variable cost and fixed cost
(d) None of these

In the marginal costing Profit means
(a) Contribution + Fixed cost

(b) Contribution — Variable cost
(c) Contribution — Fixed cost

(d) Al
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rease, then profit-volume ratio ‘

(9) If selling price et unit inc
(b) Decreases

(d) None of these
ess costing

(a) Increases

(c) Nochange
m the following which is not relevant to proc
(b) Abnormal gain

(d) By product
% 42,000. If 25% profit charged on transfer price,

(10) Fro

(a) Inter-process profit
(c) Escalation
then the

(11) The cost of Process 2 is
transfer price will be

(@) ¥ 42,000 | °
(¢) ¥56,000 (d) None of these \
(12) If purchase price is more than Net assets, then the difference is > \\
(a) Reserve Capital (b) Capital Revers
©) Goodwill d) Allgi 0
‘ =
AW°

@9

(b) ¥ 28,000
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